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Area and Perimeter 

Calculate the area of the following shapes. 

 

   5 cm      7 m      5 cm   

       
2m 

               

3 cm             

5 cm 

      

                      

         Area = ______ m²        

Area = ______ cm²    Perimeter = ______ m          

Perimeter = ______ cm                   

                 Area = ______ cm²  

                 Perimeter = ______ cm  

                    

    21 m      10 km      6 mm    

3 m        
5 km 

             

              
6 mm 

      

Area = ______ m²                 

Perimeter = ______ m    Area = ______ km²          

         Perimeter = ______ km          

                 Area = ______ mm² 

   10 m            Perimeter = ______ mm  

                        

                        

                        

16 m 
         Challenge!   4 m      

                      

                   
8 m 

   

          
4 m 

          

                      

              14 m        

Area = ______ m²       Area = ______ cm²       

Perimeter = ______ m       Perimeter = ______ cm       
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Area and Perimeter Answers 

Calculate the area of the following shapes. 

 

   5 cm      7 m      5 cm   

       
2m 

               

3 cm             

5 cm 

      

                      

         Area = 14 m²        

Area = 15 cm²    Perimeter = 18 m          

Perimeter = 16 cm                   

                 Area = 25 cm²  

                 Perimeter = 20 cm  

                    

    21 m      10 km      6 mm    

3 m        
5 km 

             

              
6 mm 

      

Area = 63 m²                 

Perimeter = 48 m    Area = 50 km²          

         Perimeter = 30 km          

                 Area = 36 mm² 

   10 m            Perimeter = 24 mm  

                        

                        

                        

16 m 
         Challenge!   4 m      

                      

                   
8 m 

   

          
4 m 

          

                      

              14 m        

Area = 160 m²       Area = 72 cm²       

Perimeter = 52 m       Perimeter = 44 cm       
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